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9. When problems are corrected at once to get performance back on track,

“E

A2 R (R R ER
Exam Printed on 2 sides

has been used. (A) mechanistic control; (B) immediate corrective action; (C) basic
corrective action; (D) remedial corrective action.

10. Which of the following describes the primary purposes to establish a firm? (A)
Strategic plan; (B) tactical plan; (C) operating plan; (D) vision planning; (E)
mission statement
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11.A ____ span of control is associated with many levels of management, which
gives rise to a ___ organizational structure. (A) wide; tall: (B) wide; flat; (C)

narrow; tall; (D) narrow; flat

12. The matrix structure: (A) always keeps dual-authority relationships. (B) should be
considered only in a stable environment. (C) is designed for use within a
bureaucracy. (D) is known for its quality of centralization of key decisions for
organizational control.

13. Which of the following theories of motivation suggests that workers will be
motivated if they are compensated in accordance with their perceived contribution
of the firm? (A) expectancy theory; (B) motivation-hygiene theory; (C)
reinforcement theory; (D) need theory; (E) fuzzy theory.

4. _ is a control approach often used in organizations in which teams are
common and technology is changing rapidly. (A) Market control; (B) Clan control:
(C) Bureaucratic control; (D) Price control.

15. Jose is a manager in the finance department. He has just been given his objectives
by his boss and is not sure whether he or his boss is responsible for completing the
monthly budget forecast; this is an example of . (A) role conflict; (B)

role overload; (C) role ambiguity; (D) role inconsistency.
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An organation’s use of outside firms for providing necessary products and
services.
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2. The strategy an organization follows when it wants to establish an advantage in a

narrow market segment.
3. The search for the best practices among competitors or noncompetitors that lead to
their superior performance.

4. Any imcompatibility between two or more attitudes or between behavior and
attitudes.




S RE 101 S5 F ot RATFE L3148 4 H 3R

EREEPERBALIET @

#F— B
TEHL(F) | RA
(B3RS R) (RAEEAKE) 13T 1% 3 & #% Eéfiqﬁ\ﬁqﬁﬁ-ﬁ%

5. Adams’s theory that employees perceive what they get from a job situation
{outcomes) in relation to what they put into it {(inputs) and then compare their

input-outcome ratio with the input-outcome ratios of relevant others.
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